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1. M

TBPS(3 B LKL A5 2 B L 7= TBPS2(Triple Base Polynomial Sieve 2nd)
AR U CRBO RS D015 w7,

f(x)=Ax*+Bx+C, f(M)=0(mod N) & 75 2 kZHN f(X) LEEEM &2RD 5,
ZDLx, TBPS2 T AO+a kO O+b NI HE A T T NVRIETHMRIND 6,
SO+t b EFA T TNERECTHMINIMEEEFATLOBRBETH D,

TBPS2 THLWAEITV, S5V THLNATHORBITERL L, RECEHIRZ 5
BLT, N&#REDRT D,
SDVOFEAIE 12RO TBPS2 12X 25550\l &,

2. fExtg L AL EX
N=55751 % KK T 5,
AT 5 2HA L FRlloRT,
f(x)=3x*+2x-9, M =136, f(M)=N

3. TBPS2iZLA55HW
SDHVOFEMT T2 %kD TBPS2 12 L5550V 25,

(1) FBEAEIE & HFA T 7 VIR
FHEHEEPIXTROL IR ~1 205 409 ZNALZ P, 225 Py TR,
P=1{1, 2 3,5 7, 11, 13, 17, 19, 23, 29, 37, 41, 67, 137, 409}
FATTIVIEE QX
Q=1{Q, Q, Q, Q}E&7T%,
Z 2T, Q1=(2:1), Q2=(3:1), Q3=(7:2), Q4=(19:5,7) TH 5,

(2) GNFS (T L 2 HEAKE D550
AFT7hcl+d T, ¢=12312|d K15 DFHTHDSD WIEREHE 1 1ITRT,

7% 1. FRIXRI D GNFS 52 Wik F
AT T IV B FAT T IR
NO. cO+d cM +d P TO4 R N(co+d) Q TDOHrfiR
1 0-3 133 7-19 24 2% 3




2 0-2 134 2- 67 7 7

3 0-1 135 3% 5 4 2

4 0 136 2% 17 9 3

5 0+1 137 137 8 2

6 0+2 138 2323 1 1

7 0+9 145 5-29 216 2% 37
8 0+12 148 3% 37 399 3719
9 20+3 275 5% 11 21 37
10 30 -2 406 2-7- 29 57 319
11 360-1 407 11- 37 72 PASRE
12 30+1 409 409 84 2537
13 30 +2 410 2541 81 3
14 360+38 416 2™ 13 63 3% 7

(3) DBPS 2L D ESD N
Ax+a & x+b k0 FioXT, stEZFHET S,
sx+t=(Ax+a)-(x+b)—f =(Ab+a-B)x+ab-C
s=Ab+a-B, t=ab-C
S,t DR RAKIEG kst #G THRLZS, T # Tt TRD 5,
G =sign(s)-GCD(|s]|,|t])
S=s/G, T=t/G
ZZTALSS <3| TIKI5, iks=0 TtAHRHILIKP THMTEX DL DERS,
FK2IZDBPS IZ L D ESDVERT,

2. DBPS 12X B ESEDHN

AT 7

NO. 3x+a X+b SX +t G Sx+T PR
1 3(x-1) X—2 -11x+15 -1 11x-15 X

2 3(x-1) x—1 —-8x+12 -4 2x—-3 O

3 3(x-1) X -5x+9 -1 5x -9 X

4 3(x-1) X+1 —-2X+6 -2 x—3 O

5 3(x-1) X+2 X+3 1 X+3 O

6 3x—-2 X—2 -10x+13 -1 10x-13 X

7 3x—-2 x—1 —-7x+11 -1 7x-11 X

8 3x—2 X —-4x+9 -1 4x-9 X




9 3Xx-2 X+1 —X+7 -1 X—=7 O
10 3x-2 X+ 2 2X+5 1 2X+5 O
11 3x-1 X—2 -9x+11 -1 9x-11 X
12 3x-1 x—=1 -6x+10 -2 3x-5 O
13 3x-1 X —-3x+9 -3 X—3 O
14 3x-1 X+1 8 1 8 O
15 3x-1 X+2 3X+7 1 3X+7 O
16 3X X—2 —-8x+9 -1 8x—-9 X
17 3X x-1 -5x+9 -1 5x—-9 X
18 3X X —2x+9 -1 2x-9 O
19 3X X+1 X+9 1 X+9 O
20 3X X+ 2 4x+9 1 4x+9 X
21 3x+1 X—2 —IX+7 -7 x—-1 O
22 3x+1 x-1 —-4x+8 -2 2X—4 O
23 3x+1 X -X+9 -1 Xx—9 O
24 3x+1 X+1 2x+10 2 X+5 O
25 3x+1 X+ 2 5x+11 1 5x+11 X
26 3X+2 X—2 —-6Xx+5 -1 6x—5 X
27 3X+2 x-1 —-3X+7 -1 3xX—7 O
28 3X+2 X 9 1 9 O
29 3X+2 X+1 3x+11 1 3x+11 O
30 3X+2 X+2 6x+13 1 6x+13 X
31 3(x+1) X—2 —-5x+3 -1 5x -3 X
32 3(x+1) x—1 -2X+6 -2 X—3 O
33 3(x+1) X X+9 1 X+9 O
34 3(x+1) X+1 4x +12 4 X+3 O
35 3(x+1) X+2 7x+15 1 7x+15 X

@) E5HH VOEERE
F2MOHEET —Z ZHL D, NO.32 TINO. 33 Z#HIRd 5,

(5) 1THIDIER
FT1IRPE2DEDLVERIVFR 3 DITFINELINS,

# 3. TBPS IZ X555 WHEERDITH




SRR FA T T IVEIE
NO. | —kEUE ST AT T I FAT T N
1 133 719 0-3 2% 3
2 134 2- 67 0-2 7
3 135 3% 5 0-1 2°
4 136 2% 17 0 3
5 137 137 0+1 2°
6 138 2323 0+2 1
7 145 529 0+9 2% 3°
8 148 3% 37 0+12 3-7-19
9 275 5% 11 20+3 37
10 406 2-7-29 30-2 319
11 407 11- 37 360-1 2% 3*
12 409 409 30 +1 2% 37
13 410 2-5-41 30 +2 3
14 416 2% 13 360+8 3% 7
15 137- 407 27 11-37- 137 1 1
16 136- 410 2% 3% 5 17- 41 1 1
17 136+ 409 =1 2% 3- 17+ 409 0-9 2% 3% 7
18 137- 406 -1-2-7-29- 137 0-7 2°19
19 136+ 407 -1-2% 3" 11-17- 37 0-3 2% 3
20 3-135- 137 -1-27 3% 5137 0-3 2% 3
21 135- 409 -1-27% 3% 5409 0-2 7
22 134- 409 —1-2- 7" 67- 409 0-1 2
23 3-135- 138 2- 3% 5-23 0+3 2%3
24 3-137° 2% 3-137° 0+3 2%3
25 137- 409 271+ 137- 409 0+5 2% 7
26 3- 136 137 2% 3-17- 137 0+9 2% 3
27 3- 1367 -1-2%3-17° 20-9 3°
28 3 135 -1-27% 3" 5 20-3 3
29 138- 406 2% 3-7-23- 29 20+5 19
30 135410 -1-2- 3% 5% 41 3017 2% 3
31 135- 407 -1-27"3%511- 37 30-5 2% 3
32 138- 407 2-3-11-23- 37 30+7 2% 3
33 137- 410 25 41-137 30+11 2% 3




# 3RS E 6 fH (R,~Ry) B L., FIEEDFIZ mod 2 Zifi L CIERL L7z 0-1
1TH %~ T,

7 4. TBPSIZ X W {ERK L7z 0-1 1751 (A)

1787 Py, Py, Py, Pyy Py~ Py, Py Q~Q, R, ~Rs
1 0000100010000000 1100 100111
2 0100000000000100 0010 10111O0
3 0011000000000000 0000 O10O01O
4 0100000100000000 OOOO 101T1T1O0
5 0000000000000010 1000 101T11O0
6 0110000001000000 OOOO OOOT1T1O
7 0001000000100000 1100 00O0OT1T1O
8 000000000001 0O00O0 O111 101011
9 0000010000000000 0110 110010
10 0100100000100000 0101 10111O0
11 0000010000010000 1000 101000
12 000000000O00O0O0OO0O0O1 0110 111001
13 0101000000001000 0000 110011
14 0100001000000000 0010 110111
15 0100010000010010 0000 00O00O0CO
16 0001000100001 000 0000 O00O000O0O0
17 1100000100000001 0010 011011
18 1100100000100010 1001 001010
19 1110010100010000 1100 100111
20 1101000000000010 1100 100111
21 1011000000000001 0010 101110
22 1100100000000101 0O0O0O0 0O10010O0
23 0111000001000000 0100 100101
24 0010000000000000 0100 100101
25 0100000000000011 1010 110011
26 0110000100000010 1100 000110O0
27 1010000000000000 0100 100110
28 1010000000000000 0100 011010
29 0010100001100000 0001 00O01O00O0
30 1110000000001000 0100 000O01O0
31 1111010000010000 1100 101110
32 0110010001010000 1100 000000
33 0101000000001010 1100 000111

4. WERITORHE
HENATHIZEEL L, TTHIAD G ICEZBINL T THIAZEE ALY TIHET S,



ITHIAD F =R NRTErLRPEDH ERE B2 FRloorT,
ZDRED 1L ITBEIREI2DITHNDITE B H T,
HEZDOE

17 000000000111111111122222222223333<-- 43%5(10)
F5 | 123456789012345678901234567890123<- 5I%E5(1)
25 000001000000100110001011000000000
26 001010000000001000101000110000000
27 011001111000000011110111001000000

|
|
|
|
|
28 | 010101111000001011000111000100000
|
|
|
|
|

29 010000111101001001011111100010000
30 010100111011101001100100000001000
31 010101111110001010001110100000100
32 010101111011001011001101000000010
33 001101000110100001100010000000001

HERDOEDOIEL R RITOF 2R T, ERITIX 9 MHY Frro L7,
(@) #E)EIT1: 6,13,16,17,21,23,24
(b) #EJEIT2: 3,5,15,19, 21,25, 26
(c) 7¢)B173: 2,3,6,7,8,9,17,18,19, 20, 22, 23, 24, 27
(d) #EJEfT4: 2,4,6,7,8,9,15,17, 18, 22, 23, 24, 28
(e) EBIT5: 2,7,8,9, 10,12, 15,18, 20, 21, 22, 23, 24, 25, 29
(M WEIr6: 2,4,7,8,9 11,12, 13,15, 18, 19, 22, 30
() #WEEIT7: 2,4,6,7,8,9,10,11, 15,17, 21, 22, 23, 25, 31
(h) #JE1T8: 2,4,6,7,8,9,11,12, 15,17, 18, 21, 22, 24, 32
(i) 7EE1T9: 3,4,6,10,11, 13,18, 19, 23, 33

5. RECEFROFE
BWERATIXEAT TIVSDVDOREREEALTNDTD  RECEFIR(AT T VDE T
BYH, (M) ZRDDVERDHDH, ZOLE GEBITICE ENDAT T ADLLIERSID B
F (0) I FREORRIZ2 %,
BT 1. F(0) = (0+2)(30+2)(0-9)(6-2)(0+3)°
WBIT2: F(0)=(0-1)(0+1)(0—-3)(0~-2)(0+5)(0+9)
Fo(0) = (0-2)(0-1)(0+2)(6+9)(0+12)(20 +3)(0 -9)(0 - T)
(0-3)°(60-1)(6+3)*(26-9)
F,(0) = (0-2)0(0 + 2)(0+9)(0+12)(26 +3)(0 -9)(8 - 7)(6 -1)
(6+3)?(26-3)

BT 3:

WEJEBAT 4



B F,(60) =(0-2)(0+9)(@+12)(260 +3)(30 - 2)(30+1)(6 - T7)(6 - 3)

TEJB1T 5: )
(@-2)(0-1)(0+3)(6+5)(20+5)

Fs (0) =(60-2)0(0+9)(0+12)(26 +3)(30 -1)(30 +1)(30 + 2)(€ - 7)
@-3)(@-1H(3B6-17)

F,(0)=(0-2)0(6+2)(6+9)(0+12)(260 +3)(30 — 2)(3¢0 -1)(6 - 9)
(6-2)(0-1)(0+3)(@+5)(30-5)

F(0) =(0-2)0(0+2)(6+9)(0+12)(26 +3)(30 -1)(30 + 1) (6 -9)
@-N0O-2)0-1)@+3)(30+7)

TERATI: Fy(0) =(0-1)0(0+2)(30—-2)(30 -1)(30+2)(0-T7)(0-3)(6 +3)(30 +11)

PEIRAT 6:
PERAT 7:

PEIRAT 8:

f(0)=30>+26-9, f(M)=0 (mod N) DEIZEAEMEHL, H, (8) =F (6)"* %k 5,

T, BEEERELRONO T, FROIIICLTRD D, 22T, miT F (0) Z1ELT5, 00
—RADETHD,

3-B (0)*=3"'F, () (mod f(6))
I FERTEHENT — R TR ARRE L B, (0) 2Rk 5, IICFRETH, (M) ZR 5,
H,(M)=B,(M)-D™?? (mod N), D=1/3=18584 (modN)

BARHNCHE T DL T RO IR D,
BT 1 32 F (0) =1247400 + 265356, B,(¢)=990+ 243, H,(M)=1523
BT 2: 3°-F,(0) =-936320+149184, B,(¥)=760-180, H,(M)=7323

3° . F,(6) = —22934099363840 + 9212064777216,
B, () = 2142560 —1712592, H,(M)=15979

WRAT 3:

3° . F, () = -5701028480 + 20944155456,
B, (6) = 475720 +13860, H,(M)=19340

PEIRAT 4

3° . F,(6) = —19909037998086 + 22070523589632,
B, (0) =15560166 + 305424, H (M) =5487

WRATS:

3°. F,(6) = —110965863375360 +16006016565504,
B, (0) = 9661680 —1592136, H (M) = 23326

WET 6:

3° . F, (0) = —74682339863040 +11716954373376,
B, (6) = 6899760 — 1573992, H.,(M)=6111

WRATT:



3° - F,(#) =83655475384320 + 20979815463936,

BT 8:
B, (9) = 6360486 + 2404080, H,(M)=13635
_ 3*.F,(6) =1511654400 + 952342272,
wemire. © ) *

B, (0) = 97200 + 5832, H,(M)=16392

6. [RIE ) ffRE H
(1) #8171 :6,13,16,17,21,23,24
7% 3 ITHEIBATE Y TId, N=55751 3L LT 5 L HEILE T N RO BRI RN T 5,
(2%3*5217-23-41:137-409)> = 1 (mod 55751)
ERREAECE TR O 1523 L7 D2 LD FRLasplar 5,
1523% = 1523° (mod 5571)
AU B RO T D 3 iR TEIR,
(2) BT 2 : 3,5,15,19,21,25,26
7% 3 ITHEIBATAE Y TIdd, N=55751 L LT 5 L HEILE T N LD BRI KA T 5,
(3%5-11-17-37-137%409)> = 1 (mod 55751)
ERREAECE TR O 7323 L7 B2 LD FRLASRAL T 5,
7323% = 7323% (mod 5571)
ZHUT B RO T D 3 iR TEIR,
(3) BT 3:2,3,6,7,8,9,17,18,19,20,22,23,24,27
7% 3 ITHEIBATAE Y TId, N=55751 2L LT L EEILE T N RO BRI RN T 5,
(2%-3"5%11-17%23-29-37-67-137-409)° = 1 (mod 55751)
FRLEAECE TR O 15979 L7252 Eb FRESRALT 5,
8055% = 15979° (mod 55751)
WS TTFROLIITRD,
GCD(15979-8055,55751)=283, GCD(15979+8055,55751)=197
A 55751=197-283 L3 iS5,
(4) 7EB1T4:2,4,6,7,89,15,17,18,22,23,24,28
[RIERIZ FRLASE AL T 5,
8111 = 19340* (mod 55751)
7~ 55751=197-283 Loy iS5,
(5) /AT 5 : 2,7,8,9,10,12,15,18,20,21,22,23,24,25,29
[RIERIC FRLASE LT,
10864° = 5487° (mod 55751)
7t~ 55751=197+283 L3 iS5,



6) WEB1T6:24,7,89,11,12,13,15,18,19,22,30
[RIERIZ FRLASE AL T,
4648° = 23326> (mod 55751)
7t~ 55751=197-283 L3 iS5,
(7) #8177 :24,6,7,8910,11,15,17,21,22,23,25,31
[RIERIC FRLASE AN T,
398° = 6111* (mod 55751)
7t~ 55751=197+283 LAy iS5,
(8) 7EB1T8:24,6,7,8911,12,15,17,18,21,22,24,32
[RIERIC FRLASE AT,
26834° = 13635° (mod 55751)
7t~ 55751=197283 Loy iS5,
(9) #B179:3,4,6,10,11,13,18,19,23,33
[RIERIC FRLASER LT,
163922 = 16392* (mod 55751)
ZHUT B RO T D 3 R CEIR,



